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1.611 x = 1611 9.056 x =905.6
8.727 x = 87.27 6.156 x =615.6
1.163 X =11.63 4421 X =442.1
8.259 x = 82.59 1.991 x =199.1
1.932 x =19.32 1.645 X =164.5
5.614 x = 5614 10.186 x = 10186
4.286 X = 428.6 2.384 =238.4
2.038 X = 2038 8.187 x = 8187
10.154 x = 10154 2.266 X = 22.66
8.432 x = 84.32 1.977 x =197.7
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1.611 x 1000 = 1611 9.056 x 100 = 905.6
8.727 x 10 = 87.27 6.156 x 100 = 615.6
1.163 x 10 = 11.63 4421 x 100 = 442.1
8.259 x 10 = 82.59 1.991 x 100 = 199.1
1.932 x 10 = 19.32 1.645 x 100 = 164.5
5.614 x 1000 = 5614 10.186 x 1000 = 10186
4.286 x 100 = 428.6 2.384 x 100 = 238.4
2.038 x 1000 = 2038 8.187 x 1000 = 8187
10.154 x 1000 = 10154 2.266 x 10 = 22.66
8.432 x 10 = 84.32 1.977 x 100 = 197.7

www.snowmath.com


https://www.snowmath.com

